50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Time: 3 hrs. : Max. Marks:100

Note:1.Answer any FIVE full questions, selecting
2. Missing data may be assumed suitably.

/distribution. 4
1) Backfill drained but top of the wall restrained against yielding.
i) Backfill fully: drained and the wall is free to yield.

PAR
What are the objectives of subsurface. explorat10n‘7 (04 Marks)

What is stabilization of bore holes? What are the various me hods and explain them briefly?
(10 Marks)

06 Marks)

sinesq’s and Westergaard’s theory of stress distribution.

@ (06 Marks)
Explain the cons uction and uses of Newmarks chart. (08 Marks)
A load IOOOkN acts as a point load at the, surface of a soil mass. Estimate the stress at a
point 3m be ow and 4m away from the pomt of actlon of the load by Boussinesq’s formula.
(06 Marks)

(10 Marks)
‘overlies an 1mpermeable stratum. The
uepm of 18m 1 oe c.vv the gr\;t.nu su faCe A sheet pile wall

(10 Marks)

Derive the equatlons for the earth
A retaining wall with a smoo
back ﬁll has a horizontal surf olloy
C =0 =28°; 7= 16 KI}I/m and Yst = 20kN/m Calculate the magnitude of the total
active thrust against wall for the conditions given below and show the earth pressure

: (08 Marks)
nd backfill for a depth of 6m. The

g properties:

iii)  Wall free to yield, water table"ls at 3m depth and there is no drainage. (12 Marks)

¥ PART - B
leferentlate between mﬁmte and finite slopes. List the causes for failure of slopes.
(06 Marks)
Explain the method of' sl'ces for the analysis of stability of slopes. (08 Marks)

An embankment is mclmed at an angle of 35° and its helght is 15m, the angle of shearing
resistance is 152 and the cohesion intercept is 20kN/m’. The unit weight of soil is
18kN/m’ and Tay{ors stability number is 0.06. Determine the factor of safety with respect to
cohesion. ° (06 Marks)
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Define:

i) Ultimate bearing capacity
ii)  Safe bearing capacity (04 Marks)
Discuss the effect of water table on the bearing capamty of ooting. (04 Marks)
What will be the net ultimate bearing capacity of san fhavmg ¢ = 36° and dry unit weight of
18 kN/m® for the following cases:

i) 1.5m strip footing

ii)  1.5m x 1.5m square footing

iii)  1.5m diameter circular footing.
The footings are placed at a depth of
capacity equations and bearing capaei

m from the ground surface Use Terzghi’s bearing
actors are given below

N
57.8
95.7
(12 Marks)
Distinguish between u " jz&rm and differential settlerrients (04 Marks)

U *;evel water tank is proposed to carry 10m height of water on a soil with
soil modulus of MPa and Poisson’s ration 'Nf 0.2. If the influence factor is 0.9, estimate the
\ (08 Marks)
A structute @Mproposed on a layered soil comprising of 5m thick soft saturated normallzy
consohda‘ted clay. The effective conﬁnmg pressure at the“mlddle of clay layer i is 300kN/m".

(08 Marks)

(06 Marks)
(06 Marks)
(08 Marks)




